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35mph  24-3= 2mph
9N atess 175 points. You scored 9 pots igher than you rena

9. The sum of yours and your friend
ur s s
What was your score on the test? o
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10. In a basketball game, Lebron made some 1-point, 2-point, aid 3-point shots. Lebron made tripe as many
fwo-point shots as three-point shots. The number of points he earmed from one-point shats was five less than
double the number of three-point shots he made. Lebron eamed a toal of 50 points. How many of each type of
shot did Lebron make? e Shots . =of 3
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2. Use what you know about the properties of numbers to complete each blank.
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“Appropriately apply the Multipicative Identity Property
to complete the blanks:

3 x| -2
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Appropriately apply the Additve Identity Property fo
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“Appropriately apply the AGGRve Inverse Property 10
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3. Simplify each expression.
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Appropriately apply the Additive Identity Property to
complete the blanks:
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3. Simplify each expression.
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5. Solve each equation. For one equation, explain how you know for sure that your solution 1§

a -6(2+121)=28~r b. 5(x+15)~ (45x-2)= Yx-1
il

<pai

-13-71C=2%

2 SX+7.5%. 5% 2= k-1
s q5K9.5="aA-
e (= & m\mmw Qxta.5=-\
3.6x|+8=80 d. ~18+20(p +20) = 8- 10(4p + 22)
3J-8x =72

—12:+20p+400 = 3-40p S
388 00p= Yop-21L
22 @Qm =-%

b5 B!




image4.jpeg
q ,_».m,%.wsufe_e.u.
|-8x|=24 oo gt
“8X:gY -2y

3Ryli7-e’  siaulee’

e are .
xRS &

€. 4-10/10m - 10| + 6 =-140

10m-10]+6 = =144

om ,Q_upg

Iom-l0l =85
10m-10= 15 sa,u‘nywa‘
10m=385. i

ST
) Lo_‘_q_&n.zn\ gaan/' G

Y-jolis» 6= 107 4 G-js016:-1o E ;
20600l e b





image5.jpeg
:
c.p-4s-160r2p+5>8 d.20+[5-12]<27 < 15n+12

; X L5012
P&z or N_vvw\w guils-12 ] €27 pqh_wwtv
F 20+7427 -_utc
Q0 20
- &+ i
1 mlf@\-[...l-tl._ho.v

2)3-a|s12 £.19m — 3(m + 2) = 10 + m > 10m - 37
e 8+2)3-a|=

1am-3m-62104m 104 Jom-37
2lo) 3 Jom-6210tM 10-9m A-37
|13-alLZ vz 15m-6210 -&\SFVIM;}Q
3052 w-su.w 15m 26 m
- <=7
L -
~Ha T
' BI.W\..QL\.‘TM\I.V





image6.jpeg
7. Kista s designing a &
e o o8gning a neckace using some wie. Shewars .

ol T cut and je the wire isin \
EREE e ST R M S |
e S e e
o, <8b=B ' P: 24N [ J
btas£24
b+ 2(2b-3)£24

‘ "~ Aoas

e base o be
Qsdr‘&é beheen Ut b mm
2. Debbieis riding her horse due Nort, and Harold i dinghis horse d0e South O 3verage-DRbes hass

rawels 5 mph slower than double the speed of Harold's horse. After two hours, Debble and Harox! are 8 i
away. How fast s each horse traveling/
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H=45meh  2H-3= 2mph i
The sum of yours and your friend’s score on a test is 175 points. You scored 8 points higher than your friend.
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